Through any point in the wealth space go two indifference curves: a less steep one corresponding to effort
and a steeper one corresponding to no effort.
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Next the no-effort indifference curves:
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Indifference curves that go through the NI point:
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The monopolist will want the consumer to be on the reservation utility locus. But which contract on this
locus will it offer?
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Cost of

TWO EXAMPLES 7F 1 L, 0,
Ctlet 13 o pIycloloy
Example 1. (b - 7 BAJ\
4 . U,m)=U(m,0)=/m
Ww=10,000 L=190 p=— p,=—
10 10 U,(m)y=U(m,e)=m—1 C =1
Then A\ C
4 f VA A
E[U,(NI)]= = (0,000 — 1,900 + — V/iooew = ‘7(& U
&) o

E[U,(NI)] = ,«'5 (\ffo,ovo—l,%o -~ 1> + % (W - 7> = gg

o
Yy

So under no insurance the agent chooses € #for E

Page 1 of 6



What contract would a monopolist offer? The choice is between 4 and F.
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Find the premium of contract F. Given by the solution to:

\Jlo,oao._l,,\ -9

Corresponding profits:

T(F) = 3% - %(',"005
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Calculate premium and deductible for contract A4: Pg = ( ’4 A J A ) cl A 20

% \Fl 0,000 — ha — d A+ f_ Io,800 |, 5 (on the no-effort indifference curve for utility 98)
1 ~
(v ~ ﬁg PVI = _{4_"
I (5]
o (\/TD/ 000 -Lu\ ~d A — 'h 1 '?; r \) 0,o00-l4 —1 )(on the effort indifference curve for utility 98)
~9& P, =L
The solution is: /4 = [32.849 d,=¢( Sl Weathin o
W,
Corresponding profits:
W m-\"l 457 line
TRy = 132.89 - L (1900- 65001 = ¢ :
I‘ “1
Thus the monopolist will offer N, N —
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Example 2 (“effort” is a monetary expense).
1 1
W=8,000 L=3000 p,=5 P=1 U(m)=10In(m)

Cost of “effort”: $50. a

‘7 W
E[U (NI)]= Jg o Ew(g,ooo-a,ooo) t S 10 £u (8, 000) = 89,284

E[U (NI)] = TI EXC (8,000—5,000—5c7> + % lo @(8,000—50):
¢ O
89.235
I
So under no insurance the agent chooses ¢ /f Fo/ L~ ]
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What contract would a monopolist offer? The choice is between 4 and F:
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Find the premium of contract F. Given by the solution to:

10 £ (8,000-h) = 89.335 L= 417.87

Corresponding profits:

W(F) = 417 g ~
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Calculate premium and deductible of contract 4.

Given by the solution to:

._,l’l/\ "’JA) = 801331-7

7 _ AR £ 0DO
Z 10 & ( 8,000 L'AX * & 0 v (g’ (on the no-effort indifference curve for utility 89.335)

1o gvp [@,000~14A ~C|A—SD) = &9.235

|io 10 fu ( 8I0°O "l’”‘\ —o OB T TO' (on the effort indifference curve for utility 89.335)

The solution 1s: hA: [63.£4 dA: ’,8’V-D5

Corresponding profits:

TA) = 163.69 — T|5 (3,04»._ 1,8:‘7.05‘) = 45. 295

So TT(AY S T(F) aud Mo wto Uopoli sk
WL@ Oppc’f [7(-'@ ,Oaffl’aﬂ~z'ujurauu tou Freqr A
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